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Bz | 95T H—o% | K & |R37 | TH| 24T | 34T | 4TH | SiTa |oiTan | oL | Gel | B
1 |2ZHFIRGGC fIHE AZEF2| 52 2 12 8 2 0 0 52 0
2 |lREI—ILF HE WF2 55 2 7 15 0 0 0 55 0
3 |kvTA—XbE =4te BhF2 55 1 12 11 0 0 0 55 0
4 |FEFHFHBEGGC BR #B52 56 2 9 10 3 0 0 56 0
5 |kyvTA4—XbE HIE EEKF2| 56 1 11 12 0 0 0 56 0
6 |EAMNEGGC *FH B¥F2 57 2 7 13 2 0 0 57 0
7 |MABIGGERE B ffk2 58 2 6 14 2 0 0 58 0
8 |EHFEENEGG £k FF2 58 1 12 8 3 0 0 58 0
9 |IL=KEEE 2)lIl ¥3T2| 58 1 11 10 2 0 0 58 0
9 |RmATHEOR BARK HF2 58 1 11 10 2 0 0 58 0
11 |FFHIG. G. C e =2 59 1 8 15 0 0 0 59 0
12 |(AvYRLW iR FEF2 60 1 11 8 4 0 0 60 0
13 |S.REEF—L i #-F2 61 1 8 13 2 0 0 61 0
14 |S. REEF—L EN BEF2 61 0 12 11 1 0 0 61 0
14 |(WREEITE INL FEF2 61 0 12 11 1 0 0 61 0
16 |[AAMEGGC WE BEF2 61 0 11 13 0 0 0 61 0
17 |[®10HF£G. G. C R EF2 62 1 10 9 3 1 0 62 0
18 |REEITR A EF2 62 1 9 10 4 0 0 62 0
19 [RAMEGGC HE EiF2 62 1 7 14 2 0 0 62 0
20 |(IL=FEERE HAK E+E52| 62 0 12 10 2 0 0 62 0
20 |HBIE= thE FE2 62 0 12 10 2 0 0 62 0
22 |S.REEF—L R EF2 62 0 11 12 1 0 0 62 0
23 |‘mRUST Rt FF2| 63 1 7 13 3 0 0 63 0
23 |RHAR/IL—F—X KB #HF2 63 1 7 13 3 0 0 63 0
23 |[ILUR)—FLW 4 #23kE2| 63 1 7 13 3 0 0 63 0
26 |fRFUST J\IE RF2 63 0 12 9 3 0 0 63 0
27 |[BEBAGG INI EIF2 64 1 8 10 5 0 0 64 0
27 |F—i#ERIZT K% 1H2 64 1 8 10 5 0 0 64 0
29 |¥k2GGY77 K Z&F2 64 1 5 16 2 0 0 64 0
30 |EMEGGRIF= hE \EF2| 64 1 4 18 1 0 0 64 0
31 |=RUTT 5H JtF2 64 0 12 8 4 0 0 64 0
32 [E10HFLRG.G. C EBL 2 64 0 11 10 3 0 0 64 0
33 |MSGGY35J AL 732 65 1 6 13 4 0 0 65 0
33 [E10HFLKG.G. C T B&F2 65 1 6 13 4 0 0 65 0
3B |EA= IR Y&EF2 | 65 0 11 9 4 0 0 65 0
36 |REAHTENE AR ¥3xT2| 65 0 10 11 3 0 0 65 0
37 |$F10FXRG. G. C mAx J¥x/2| 65 0 8 15 1 0 0 65 0
38 |EAIRGGC A FHRE2| 66 1 6 12 5 0 0 66 0
38 MREFMNEGGC A E¥2 66 1 6 12 5 0 0 66 0
40 |FoaF= L 66 1 5 14 4 0 0 66 0
41 |AAMEGGC KHEA #N¥2| 66 0 9 12 3 0 0 66 0
M |byTA—RE B E3XF2| 66 0 9 12 3 0 0 66 0
43 |FEHHEGGC HIE #iF2 67 1 8 10 2 3 0 67 0
44 |JL2RY)—FIWL h EE2 67 1 7 9 7 0 0 67 0
45 |2 ZAIRGGC WH ZHF2| 67 1 5 14 3 1 0 67 0
46 |TRITT FEE FF2 67 0 9 12 2 1 0 67 0
47 |EHEEMRGG R 52 67 0 7 15 2 0 0 67 0
47 |AvvhRW A#k NEF2| 67 0 7 15 2 0 0 67 0
49 (AvYAW LT 3HF2 68 1 7 9 6 1 0 68 0
50 |EEWPIWSIITT HEEH IHF2 68 1 5 12 6 0 0 68 0
51 |®HBIE= =% BF2 68 0 10 9 4 1 0 68 0
52 |IL2RU—FW IN EF2| 68 0 9 10 5 0 0 68 0
52 | MEHHIKIR s FEK2 68 0 9 10 5 0 0 68 0
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NI 5z 95T (—UIL) 4 K B | RTT | 1ITHEU | 24T%0 | 3473k | 44T4 | 53T#0 | 63T%K B s i5%&
54 |B_{AIRGGC X8 EF2 68 0 7 14 3 0 0 68 0
54 |(IL=FEEA®R H FTHETF2| 68 0 7 14 3 0 0 68 0
56 |2 _{AIRGGC WA AE2 68 0 6 16 2 0 0 68 0
56 |MREIT—ILK WA AFEF2| 68 0 6 16 2 0 0 68 0
56 |(HBIER tHE EF2 68 0 6 16 2 0 0 68 0
59 |EZMIS7—X NNim Z42 69 1 7 7 9 0 0 69 0
60 |EHFEENEGG & @mF2 69 1 4 13 6 0 0 69 0
61 |EHFEERMEGG BEA 2 69 0 9 10 4 1 0 69 0
62 |ZL>R)—&FLW LM FHRF2| 69 0 8 11 5 0 0 69 0
62 |¥k2GGH77 #ZIl &3%x2 69 0 8 11 5 0 0 69 0
64 |IREFEIT= Bl 3=F2 69 0 7 14 2 1 0 69 0
65 |B7MITTV—X =R EEF2| 69 0 7 13 4 0 0 69 0
66 |dtILEAGGC IVt FIF2 69 0 6 15 3 0 0 69 0
66 |2<KLD ® BF2 69 0 6 15 3 0 0 69 0
68 |{EMTEGCGRIF= RE F+F2 70 1 4 13 5 1 0 70 0
69 |ZL2FU—F W I8M BF2 70 0 8 11 4 1 0 70 0
70 |B2ZHAIRGGC mlR Ef2 70 0 7 13 3 1 0 70 0
70 |EAMNEGGC R #FRiT2 70 0 7 13 3 1 0 70 0
70 |F=GGC AR F1+F2 70 0 7 13 3 1 0 70 0
73 |HAAMNEGGC WK FF2 70 0 7 12 5 0 0 70 0
74 REHATEOR BN EF2 70 0 6 14 4 0 0 70 0
75 |HBIEE A X2 70 0 5 17 1 1 0 70 0
76 |F=GGC Fim RF2 71 0 9 9 4 2 0 71 0
77 |ERFVST AR EF2 71 0 8 11 3 2 0 71 0
78 |MMREKIR REE GEZEF2| T 0 8 10 5 1 0 71 0
79 |B—2F%% HO #&I20 T 0 8 9 7 0 0 71 0
80 |ZLK—&FW K ExmB2l T 0 5 15 4 0 0 71 0
81 |2E—2F% +tR EiF2 71 0 4 17 3 0 0 71 0
82 |ME&®KIK AR BEF2 72 1 5 12 2 4 0 72 0
83 |EEAGG R2 E=8EF2| 72 0 7 12 3 2 0 72 0
84 |MRHEI—ILK B2 EF2 72 0 7 11 5 1 0 72 0
85 |WREEIT= HE ED2F2| 72 0 6 13 4 1 0 72 0
85 |ZLYRY)—F W K F1F2 72 0 6 13 4 1 0 72 0
87 |HEI—ILK BAR F3x2 72 0 6 12 6 0 0 72 0
88 |F_faF= Bl X2 72 0 5 15 3 1 0 72 0
88 |EMEGGRIIFE RHF FEE2 72 0 5 15 3 1 0 72 0
90 |S. REEF—L EO KEE2 72 0 4 16 4 0 0 72 0
91 |F=GGC By EEF2| 73 1 5 9 7 2 0 73 0
922 MREFMEGGC Kk TAHF2| 73 0 8 8 7 1 0 73 0
93 |S. REEF—L b+ A2 73 0 6 11 7 0 0 73 0
94 |HE10HF&G. G. C #HE =72 73 0 5 14 4 1 0 73 0
95 |MTAETGGEWFR Wt JNEF2| 73 0 4 16 3 1 0 73 0
96 |2_{AIRGGC g #iRe 73 0 3 17 4 0 0 73 0
97 |F=GGC fHE FHF2 74 0 5 12 7 0 0 74 0
98 |BE—2FLR AR #5F2 75 1 1 13 9 0 0 75 0
99 |FEHHEGGC HH AEF2| 75 0 6 12 3 3 0 75 0
100 |[FEFHGGC hAR IEF2 75 0 4 14 5 1 0 75 0
101 |ZLR)—&FLW HE R¥2 77 0 4 13 5 2 0 77 0
102 |IUFGGC ZH BF2 78 0 5 9 9 1 0 78 0
103 |#RFVFD Al B¥F2 78 0 3 14 5 2 0 78 0
104 AN RER ZF2| 79 0 4 12 5 3 0 79 0
105 |2—2FR HIE %£F2 80 0 4 10 8 2 0 80 0
106 |EHEEMEGG RE #FEF2| 81 0 2 12 9 1 0 81 0
107 |2ZH&KIRGGC gk BEF2| 82 0 2 12 8 2 0 82 0
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B | 95TH—oME | K & (37| TH| 2478 | oiTa | 4T | siTa |eiTan | G | Gap |
108 [2—=FR BRE hXT2| 85 0 4 10 4 5 1 85 0
109 |F=7v&m R =X | 67 1 9 10 4 1 0 67 0
K1 BEAE A AF2 67 0 7 14 3 0 0 68 -1 BB E
Xi& |B—=2FE IWT FEEF2| 72 0 3 17 4 0 0 73 -1 BB E
ki |1E—2F=R — %% IBF2 90 0 1 6 15 1 1 91 -1 BB E
REHE
EHEEWRGG FE ExM2] 100 0 0 0 0 0 0 0 100
£ &GRS E+E #EF2| 100 0 0 0 0 0 0 0 100
FRIG. G. C R I F2| 100 0 0 0 0 0 0 0 100
S. REEF—L Brx R¥2 100 0 0 0 0 0 0 0 100
2" KikGGC h# Fvx2| 100 0 0 0 0 0 0 0 100
TRITT Bl HF2 100 0 0 0 0 0 0 0 100
E—SoFR thil &2 100 0 0 0 0 0 0 0 100
E—E2F= I SF2 100 0 0 0 0 0 0 0 100
fyTA—X b EikE FF2 | 100 0 0 0 0 0 0 0 100
by TA—X bk ]’ SFF2 | 100 0 0 0 0 0 0 0 100
MR&EFM=GGC ER #F2 100 0 0 0 0 0 0 0 100
BrMmI57—X AR BRI 100 0 0 0 0 0 0 0 100
A= hiE 2F2 100 0 0 0 0 0 0 0 100
2KLD AR BE2 | 100 0 0 0 0 0 0 0 100
IEMEGGRIFE TEWE EF2 100 0 0 0 0 0 0 0 100
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